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Guess Paper – 2009

Class – X

Subject – Mathematics
1. Find the H.C.F of 4052 and 12576 by Euclid’s method. 

OR
    Show that √2 is not rational number.

2. Change the number 0.3 into a while a and b are co- prime number and b # 0

        


             b

3. Find the zeroes of polynomials x2 + 7x + 10 and check the relation between their zeroes and roots.

4. Determine the polynomial, where sum and product of the roots are -3 and 2 respectively.

5. Divide 3x3 + x2 + 2x +5 by 1 + 2x + x2. 

6. Find all the zeroes of  2x4 – 3x3 – 3x2  + 6x – 2. If its two zeroes √2 and -√2 are given.

7. The sum of a two digit number and the number formed by interchanging the digits is 110. If 10 is subtracted 
    from the first number, the new number is 4 more than 5 times the sum of the digits in the first number. Find 
    the first number.

OR

    The monthly incomes of A and B are in the ratio of 9:7 and their monthly Expenditures are in the ratio of 4:3. 
     If each saves Rs.1600 per month, find the monthly incomes of each.

8.   Solve graphically and find its co-ordinates.

        2x - y - 5 = 0

         x - y -3 = 0

OR

       Solve the following pair of linear equations graphically:
      
3x + y + 1 = 0

      
2x – 3y + 8 = 0

       Shade the region bounded by the line and x-axis.

9. Solve for X and Y

              57       +        6__
           x + y            x - y          = 5
       38       +         21
      x + y               x – y       =    9

OR

      ax + by – a + b = 0 

      bx – ay – a- b = 0     (x ≠ y = -1)

10.A part of monthly hostel charges is fixed and the remaining depends on the number of days one has taken 
     Food in the mess. When a student A takes food for 20 days, he has to pay Rs.1000 as hostel charges whereas 
     a student B, who takes food for 26 days pays Rs. 1180 as hostel charges. Find the fixed charge and the cost 
     of food per day.

11. Find the roots of 3x2 - 2√6x + 2 = 0.
12. If two digits have sum of 27 and product is 182, then find the digits.

13. If sum of two odd numbers is 290. Find the digits.

14. If the list price of a book is reduced by Rs. 5, a person can buy 5 more books for 300. Find the original list 

      price of the book.

15. In a flight of 600 km an aircraft was slowed down due to bad weather. Its average speed for the trip was 

      reduced by 200km\h and the time of flight increased by 30 min. find the duration of the flight. 
16. If m times the mth term of an A.P is equal to n times of its nth term, find its (m+n)th term.

17. How many terms of the A.P 3, 5, 7…must be taken so that the sum is 120?

18. If the sum of the 4th and 8th terms of an A.P. is 24 and the sum of the 6th and 10th terms is 44. Find the first 

      three terms of an A.P.
19. Find the sum of all the 3-digits positive number.

20. Which term of the A.P.5, 9, 13 …is 81? Find also the sum of 5+ 9+ 13+….81.

21. Prove that the ratio of the areas of two similar triangles is equal to the ratio of squares on the corresponding 

      sides. 

      Using above theorem. If ∆ABC     ∆DEF and ar(∆ABC) = 49sq.cm and ar(∆DEF) 64 sq.cm. If AC = 
      4.8cm. then find DF. 
22. In the adjoining figure, if DE|| BC and AD = 4x – 3, AE = 8x-7, BD = 3x-1 and CE = 5x ‑3, find x.     
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23. The perimeters of two similar triangles are 25 CM and 15 CM. IF one side of the first 

      triangle is 9 CM; find the corresponding side of the other. 
24.If a line is drawn parallel to one side o a triangle, prove that the other two sides are divided in the same ratio.

     Using the above, prove the following: In the adjoining figure, if ∟A = ∟B and DE //AB prove that AD=BE.
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25. Show that the points (-3,-4), (2, 6) and (-6,-10) form a right angle triangle.

26. Prove that the points (-2,-2), (-1, 2) and (3, 1) are vertices of an isosceles triangle.
27. Show that point (-3, 2), (1, -2) and (9, -10) are collinear. 
28. The coordinate of mid points of the line having points (3p, 4) and (-2, 2q) is (5, p). Then find the value of 

      the p and q.

29. Find the coordinates of the third vertex if two vertex of triangle are (1, 2), (3, 5) and its centroid is on the 

      centre point.

30. Find a point on x-axis which is equidistant form the points (7, 6) and (-3, 4).

31. Find the value of m for which the points with coordinates (3, 5), (m, 6) and (1\2, 15/2) are collinear.

32. If the point P(x, y) is equidistant from the points A (5, 1) and B (-1, 5), prove that 3x = 2y.

33. Find the area of triangle.  If A(1,2), B(3,5), C(-4,-7).        
34. Prove that : tanA-cotA =       2 sin2A-1    =    1-2cos2A
                                                    SinA.cosA         SinAcosA
35. cosecA  +  cosecA     = 2 + 2 tanA

   CosecA-1     cosecA+1
36. If cosө + sinө = √2 cosө then prove that cosө- sinө = √2 sinө
37. If  tanө =  3 then sinө  + cosө  = ?
                       4
38.  Sin3000   +       tan4500   _   Cos3000          sin6000
      Cos4500                sec6000         tan4500           sin9000
39. Find the value of 

     cotө tan (90º -ө) – cosecө sec(90º - ө) + sin² 65º + sin² 25º + √3tan5ºtan45º tan85º
40. Find the value of 

cos 58º   +  sin22º   _                 cos38º cosec52º                

Sin32º       cos68º          tan18º tan35º tan60º tan72º tan55º

41. The shadow of a tower, when the angle of elevation of the sun is 450 is found to be 10meters longer than 
      when it was 600. Find the height of the tower.
42. The angle of elevation of a jet plane from a point P on the ground is 600, after a flight of 15 seconds, the 
      angle of elevation changes to 300   if the jet plane is flying at a constant height of 1500√3 m, find the speed 
      of the jet plane.
43. An aero plane when 3000 m high, passes vertically above another aero plane at an instant when their angles of elevation at 
      the same observing point are 600 and  450 respectively. Find the vertical distance between the two planes.
44. From an aero plane vertically above a straight line horizontal plane, the angles of depression of two consecutive kilometer 
     stones on the opposite sides of the aero plane are found to be α and β. show that the height of the aero plane is tan α  tan β .
                                                                                                                                                                                     tan α + tan β
45. In the adjoining fig., an equilateral triangle has been inscribed in a circle of radius 4cm. find the  area of the shaded region.


46. The minute hand of a clock is 10 cm long. Find the area on the face of the clock described by the minute hand between 
      9 a.m. and 9. 35 am.

47. Find the area of a sector a circle of 7m diameter whose central angle is 1000. 

48. The diameter of a circular pond is 16.5 m. It is surrounded by a path of width 3.5 m . Find the area of the path.

49. A horse is tethered to one corner of a field, which is in the shape of an equilateral triangle of side 12 m if the length of the 
       rope is 7 m, find the area of the field the horse can not graze.

50. A solid sphere of radius 12cm is melted and formed some balls of radius 1cm. Find the number of  balls.

51.A cylinder is formed by melting a cone, if the height of cylinder is 5cm then find the height of the  cone. It is also given that 
     both radius are same. 
52. A well with 7m inside diameter is dug 22.5m deep. Earth taken out of it has been spread all round. It to a width of 10.5m to 
      form an embankment. Find the height of the embankment so formed.
53. A solid is in the form of a cylinder with hemispherical ends. The total height of the solid is 19 cm  and the diameter of the 
       cylinder is 7 cm. Find the volume and total surface of the solid.

54. A solid is in the form of a right circular cone mounted on a hemisphere. The radius of the hemisphere is 3.5 cm and the 
      height of the cone is 4 cm. The solid is placed in a cylindrical tub full of water in such a way that the whole solid is 
      submerged in water. if the radius of the cylinder is 5cm and its height is 10.5 cm, find the volume of  water left in the 
      Cylindrical tub.

55. If the radii of the circular ends of a conical bucket which is 45 cm high are 28 cm and 7 cm, find the capacity of the bucket. 
56. A  toy is in the form of a cone mounted on a hemisphere of radius 3.5 cm. If the total height of the toy is 15.5cm, find its 
      total surface area. (Use π = 22\7)
57. The radii of circular ends of a solid frustum of a cone are 33 cm and 27 cm and its slant height is 10cm. Find its total surface 
       area.

58. A tent is in the shape of a right circular cylinder up to a height of 3 m and conical above it. The total height of the tent is  

      13.5 m and radius of base is 14 m. Find the cost of cloth required to made the tent at the rate of Rs 80 per sq m.

59. The arithmetic mean of the following data is 14. Find the value of P.

	       x
	        5
	      10
	      15
	      20
	       25

	       y
	         7
	        p
	      8
	       4
	       5


60. If the mean of the following distribution is 27, find the value of P.
	Class
	  0-10
	   10-20
	    20-30
	   30-40
	   40-50

	 Frequency
	    8
	      p
	     12
	    13
	     10


61. By short cut method, find the average marks of a student form the following table:

Marks obtained


No. of students

Below 10






25

Below 20






40

Below 30






60

Below 40






75

Below 50






80

Below 60






85
62. The given distribution shows the number of runs scored by some top batsmen of the world in one-day international cricket 
       matches:
Runs Scored 




                       Number of batsmen

3000-4000







4

4000-5000







18

5000-6000







9

6000-7000







7

7000-8000







6

8000-9000







3

9000-1100







1

1000-11000






             1
63. Prove that:

       cosA    _     sin2 A     =  sinA + cos A 

   1-tanA     cosA -sin A

64. Which first term will be negative of an A.P. 45, 41, 37..

Or

Find the sum of all the three digits number divisible by 5
65. Solve graphically the following equation. Find the vertex of triangle also.

      y=0, x=y and   x+2y = 6

66.   

67. A vessel in the form of cylinder is mounted by a hemisphere. Height of the cylinder is 4  2 m and

                                   







           3

68. Prove that in a right angle triangle, square of hypotenuse is equal to the square of other two sides.

69. From the top of 100m high light house a person see a ship moving towards him. If the angle of 

       depression from 300 to 450 . Then find its distance covered by ship.

70. A boat goes 30km upstream and 44km downstream in 10hours. It can go 40km upstream and 55km 

      downstream in 13 hours. Find the speed of the stream and that of the boat in still water.

71. Weights of 35 students were taken during health checkup as following: 

        Weight (kg)

No. of students.

38 



0

    
40



3

42



5

44



9

46



14

48



28

50



32

52



35

Find median weight and mode of the above weights. 
72. Solve the following equation:


x + y   = 0.9,   11   = 10

      3               x + y
                                         2
73. Solve for x and y.

      6(ax+ by) = 3a +2b 

     6(bx-ay) =3b-2a

74. The first term of an A.P. is 5 and its 100th  term is -292. Find the 50th  term of this A.P 
75. The sum of first n terms of an A.P. is given by Sn = 3n2 + 2n, find the nth term of the A.P.

76. In the given figure, O is centre of the circle. If PA= 12 cm, PC = 15 cm and CD = 7 cm, find the length of 
      AB. 

                                                        B                              A
                                          P

         D                                             C

77. Two poles of heights 6 m and 11 m stand on a plane ground. If the distance between their feet is 12 m,  

       determine the distance between their tops.
78. A standard deck of 52 cards is shuffled. Ritika draws a single card from the deck at random. What is the 
      Probability that the card is a jack?

79. Solve the following system of linear equations graphically:



4x-5y-20 =0



3x +5y- =4
Determine the vertices of the triangle formed by the lines, representing the above equations, and the y- axis.

80. Find the co-ordinates of a point which is at a distance of 10 units from (0, 1) and at a distance of 5 units 
      from (3, 5).

81. The co-coordinates of one end point of a diameter of a circle are (4,-1) and the co-ordinates of the centre of 
      the circle is (1, 3) Find the co-ordinates of the other end of the diameter

82. A well of diameter 2 m is dug 14 m deep .The earth taken out. It is spreaded evenly all round it to a width of 
      5 m to form an embankment. Find the height of the embankment.
83. Prove: (cosec A-sinA) (secA-cosA) (tanA+cot A) =1
84. tan40 0+ sin2 20 0+ sin270 0 + tan50  tan10 0 tan30 0  tan80 0  tan85 0  
      cot50 0    

85. H.C.F .and L.C.M of two numbers is 23 and 1449 respectively. If one number is 207 then find next number.

86. Radius and length of arc of a circle is 10π . Find its angle.

87. Find the “D” 3x2 - 2x + 1 = 0 and its roots.
                                            3
88. In ∆ABC, ∟B is right angle if tanA = 1 then find the value of SinA cosC + cosA sinC.
                                                                  √3
89. A bag contains 5 white, 3 red, 4 blue and 7 black balls .a ball is drawn at random form the bag. Find the 
      probability that it is   (1)  Either white or black ball


(2) neither white nor red ball.
90. Solve for x and y.

                  3       +   2       =   2,         9         _    4        = 1     x + y ≠0, x ≠ y.

               x + y      x - y                 x + y        x - y 

91.  Find the sum of all three digit natural number which are multiples of 7.

92.  The sum of first 8 terms of an AP is 100 and the sum of its first 19 terms is 551. Find the A.P.

93.   Prove that 2 sec2 θ – sec4 θ – 2 cosec2 θ + cosec4θ = cot4 θ – tan4 θ.
94. A line AB has a midpoint c(1, 2a+1). If A (2a, 4) and B(-2, 3b), then find the value of a and b.

95. Find the ratio in which the line segment joining the points A(-4, 10 ) and B(7, -1) is divided by y –axis. 
       Also find the coordinates of their point of section.
96.  a vessel is in the from of a hemispherical bowl surmounted by a hollow cylinder. The diameter of the 
       hemisphere is 12 cm and the total height of the vessel is 16 cm. Find the capacity of the vessel.
97. The rain water from a roof 22 m × 20 m drains into a cylindrical vessel having diameter is of base 2 m and 
      height 3.5 If the vessel is just full, find the rainfall in centimeters.
98. The angle of elevation of the top of a tower from a point on the ground is 300 after walking 30 m towards 
       the tower, the angle of elevation becomes 600 What is the height of the tower?
99. a circus tent is cylindrical to a height of 3 m and conical above it. If its diameter is 105m and the slant height 
      of the conical portion is 53 m, calculate the length of the canvas, 5 m wide, required to made the tent.
100. Draw a circle of 4 cm radius. Take a point P in the exterior of the circle 7 cm away form the centre. From P 
        draw two tangents to the circle. Measure their length and verify by calculations. 
101. The speed of a boat in still water is 15km\h. It can go 30km upstream and return down stream in 4-1\2h. 

         Find the speed of the stream.
102. Find two consecutive natural odd numbers whose square is 202.

103. A flagstaff stands on the top of a 5 m high tower. From a point on the ground, the angle of elevation of the 
        top of the flagstaff is 600 and from the same point, the angle of elevation of the top of the tower is 450 Find 
        the height of the flagstaff

104. Water is being pumped out through a circular pipe whose internal diameter is 7 cm. If the flow of water is 
         72 cm per second, how many liters of water are being pumped out in one hour?
105. The radii of the internal and external and external surfaces of a metallic spherical shell are 3 cm and 5 cm 
        respectively. It is melted and recast into a solid right circular cylinder of height 10 2 cm. Find the radius of 
        the base of the cylinder.                                                                                              3
106. A two digit number is such that the product of its digits is 18. When 63 is subtracted    form the number, 
        the digits interchange their places. Find the number.
107. The mean of the following frequency distribution is 62.8 and the sum of all frequencies is 50. compute the 
        mission frequencies f1 and f2

Class 



Frequency 


0-20 



5


20-40



f1

40-60



10

            60-80



f2
            80-100



7

            100-120


8


Total



50
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